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Radial Vector defined by a polar angle θ w.r.to Z
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� EMBED Equation.3  ���





With “C= Ri / ri  ,  i=1,n”


For a sphere of radius =0.25 units, and the polar angle changes at intervals of 2 .5˚


There will be 144 intervals. Circumference= 2π/4 so that the diameter of each sphere on the circumference = 0.0109028; radius = 0.0054514


             C = R/r = 0.25 / 0.0054514 =    45.859779      [46.859779/44.859779] = 1.04458334


Log (1.0445834) = 0.0189431   (r/R) 3=1.0368218e-5 =0.000010368218











Z-Axis; The Direction of magnetic field





Equation for calculating the number of spheres, the dipole moments, along the radial vector is as given below:





Using above equation ‘n’ along the vector length is calculated, for the direction with polar angle θ.


Which is ‘ σ’ per spherical magnetic moment x number of such spheres ‘n’.


σθ =σ x n. At the tip of the vector, there is circle along which magnetic moment have to be calculated. This circle has radius equal to ‘R sinθ’. The number of dipoles along the length of the circumaference = 2 π R sinθ/2.r = π R/ r sinθ. Again R/ r is a constant by earlier criteria.





This circular base of the cone with apex angle equal to the polar angle θ,


has radius equal to ‘R sin θ’: See Textbox below
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